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(Philosophy of Language – Indian)

Full Marks : 65

Candidates are required to give their answers in their own words
as far as practicable.
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The figures in the margin indicate full marks.

1. Choose the correct option (any ten) : 1×10
(a) The Padav ttis admitted by the Ny ya school is

(i) akti and lak a (ii) akti, lak a  and Vya jan
(iii) akti and Vya jan (iv) akti and gau .

(b) akti, according to the Ny ya school is
(i) God’s will (ii) a separate category

(iii) a substance (iv) none of these.

(c) In case of abdabodha (verbal cognition), the knowledge of t tparya is the
(i) kara a (ii) vy p ra

(iii) sahak r  k r a (iv) none of these.

(d) The secondary signifying power of a word, according to the Ny ya school is
(i) akti (ii) lak a

(iii) gau (iv) Vya jan .

(e) According to Ny ya, one example of jahat-ajahat lak a  is
(i) ma ch  kro anti (ii) chatri a  gacchanti

(iii) soaya  Devadatta (iv) k kebhyo dadhi rak yata .

(f) Cat is meant by the term ‘Crow’ by
(i) akti v tti (ii) lak a  v tti

(iii) gau i v tti (iv) Vya jan  v tti.

(g) The term ‘pa kaja’ is a
(i) yougika term (ii) r ha term

(iii) yogar ha term (iv) yougikar ha term.

(h) Kumarila Bha a is a supporter of
(i) itar nvit bhidh nav da (ii) k ry nvit bhidh nav da

(iii) abhihit nvayav da (iv) none of these.

(i) Intention of the speaker is called
(i) k k (ii) yogyat

(iii) sannidhi (iv) t tparya.

(j) ‘gau  a va  puru a  hast ’– here there is the absence of
(i) k k (ii) yogyat

(iii) sannidhi (iv) t tparya.
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(k) Which one is not regarded as the cause of bdabodha (verbal cognition)?
(i) the recollection of the meaning of words (pad rtha smara a)
(ii) the knowledge of v tti

(iii) the knowledge of sannidhi
(iv) the knowledge of similarity.

(l) Where the meaning of a term is understood through its avayava akti, is called a
(i) yougika term (ii) r ha term

(iii) yougika-r ha term (iv) yogar ha term.

2. Answer in brief (any five) : 5×5

(a) What is k k ? Can the knowledge of  k k  be regarded as a cause of verbal cognition?

(b) What is the main tenet of anvitabhidh nav da?

(c) T tpary nupapatti (incompatibility of the intention of the speaker) is the b ja (cause) of lak a  –
Discuss briefly.

(d) What do you mean by vya jan ? Write briefly.

(e) Who is pta? What is called bdabodha? – Explain with example.

(f) Why does Anna bha a change the definition of akti in Dipik ? Discuss .

(g) Discuss with suitable example the distinction between jahat lak a  and ajahat lak a .

(h) Discuss the definition (lak a ) of pada (word) following Anna bha a.

3. Answer any two questions :

(a) (i) What is akti?

(ii) What does the word ‘table’ signify by its akti?

(iii) How is akti ascertained? 3+8+4

(b) Explain abhihit nvayav da with example. 15

(c) ‘ varasa keta  akti ’– explain this view. Explain in this context the views of the navya
naiy yikas. 7+8

(d) What is t tparya? Can t tparyaj na be regarded as a cause of verbal cognition? – Explain with
example. 3+12


